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QUESTION 1

You implement an ABAP-managed database procedure (AMDP). You want to query data from Calculation
view CA_BOOKINGS_COUNT in SAP HANA content package ha400.primdb.

How can you address the calculation view?

Note; There are 2 correct answers to this questions.

A. "ha400.primdb/CA_BOOKINGS_COUNT"

B. _SYS_BIC."ha400.primdb::CA_BOOKINGS_COUNT"

C. "ha400.primdb::CA_BOOKINGS_COUNT"

D. _SYS_BIC."ha400.primdb/CA_BOOKINGS_COUNT"

Correct Answer: CD

QUESTION 2

Which of the following ABAP transactions can you use to detect SQL performance optimization potential in your ABAP
code? 2 answers

A. SQLM
B. SE09
C. SWLT
D. ST22
E. SE3S

Correct Answer: AC

QUESTION 3

Your development team needs to include SAP HANA objects into an ABAP workbench request. You want
to use SAP HANA Transport for ABAP (HTA) and NOT the SAP HANA Transport Container (HTC).

Why would you choose HTA?

Note: There are 2 correct answers to this question.

A. Because you can manually re-deploy objects after a failed import

B. Because you always transport entire SAP HANA content packages
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C. Because you use the technique that is recommended by SAP

D. Because you automatically add changed objects to the transport request

Correct Answer: AC

QUESTION 4

What is an attribute view and what are its practices? There are 3 correct answers to this question.

A. May contain filters

B. Used in diagrammatic Projections
C. May use in calculation views

D. Used to join tables

E. May contains flow charts

Correct Answer: ACD

QUESTION 5

Which engine is used to execute Analytic View?
A. SQL Engine

B. Calc Engine

C. OLAP Engine

D. Join Engine

Correct Answer: C

QUESTION 6

Which JOIN types can be used in the definition of a Core Data Services (CDS) view? 2 answers

A. LEFT OUTER JOIN

B. CROSS JOIN

C. FULL OUTER JOIN

D. RIGHT OUTER JOIN

E. REFERENTIAL JOIN

Correct Answer: AD

Latest E. HANAAW 17 Dumps | E. HANAAW 17 VCE Dumps | E. HANAAW_17 Exam Questions

3/6


https://www.leads4pass.com/e_hanaaw_17.html
https://www.leads4pass.com/e_hanaaw_17.html
https://www.leads4pass.com/e_hanaaw_17.html

https://lwww.leads4pass.com/e_hanaaw_17.html
2024 Latest leads4pass E_ HANAAW 17 PDF and VCE dumps Download

QUESTION 7

Discuss the basic approach of classical ABAP programming. 2 answers

A. Collect all the data and perform parallel processing in ABAP

B. Creating and consuming all the contents from network

C. Get all the data you need on the application server and do your processing in ABAP
D. Keep load from the database

Correct Answer: CD

QUESTION 8

What are the benefits of using the SQL Monitor (transaction SQLM)? There are 2 correct answers to this question.
A. It collects monitoring data asynchronously without additional database interaction.

B. It schedules ABAP programs to monitor and log all database accesses.

C. It displays the database execution plan for all SQL statements.

D. It can be active in a production system with minimal performance overhead.

Correct Answer: AD

QUESTION 9

What are the key points that should be kept in mind while performing the Non-automatic update in SAP HANATr.Cont.?
There are 2 correct answers to this question.

A. Automatic release of units

B. Changes to Delta Container

C. You need to refresh the content of the container manually
D. Take snapshot manually before releasing of the container

Correct Answer: CD

QUESTION 10
HANA modeling views can be created under:

A. Catalog
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B. Schema
C. File System
D. Content

Correct Answer: D

QUESTION 11

You create a check variant in the Code Inspector which includes the check \\'Search problematic Select *
statements\\'. SAP HANA is used as the db.

In the check parameters, which value would you use for the percentage of fields that are effectively used?
Please choose the correct answer.

A. A value that you calculate based on the number of tables

B. A higher value than on a traditional, row-store only based database

C. A lower value than on a traditional, row-store only based database

D. The same value as on a traditional, row-store only based database

Correct Answer: C

QUESTION 12

Before migrating to SAP HANA, which Code Inspector check do you have to consider to avoid functional regressions?
A. Standard Web Dynpro checks

B. Search for DB operations across modularization units

C. SELECT statements that bypass the table buffer

D. Use of the ADBC interface

Correct Answer: D

QUESTION 13

Which of the following option is not the main capability of SAP BusinessObjects Analysis for OLAP? Choose the correct
answer

A. Create data by members and tables

B. Insert filter components
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C. Swap axes
D. Create Presentations

Correct Answer: A

QUESTION 14

What should you do to follow the code-to-data approach to programming? 2 answers

A. Perform expensive calculations on the database

B. Transfer all data from the database to the ABAP layer, and then aggregate the results.
C. Perform expensive calculations on the ABAP application server.

D. Aggregate data on the database, and transfer the results to the ABAP layer.

Correct Answer:. AD

QUESTION 15

Where can you consume associations in a Core Data Services (CDS) view? 3 answers
A. In the projection list

B. In the name list

C. In the input parameter list

D. In the FROM clause

E. In the WHERE and HAVING clauses

Correct Answer: ADE
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